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Table 1. Shipping costs, Supply, and Demand for Powerco Example

Jaall Jgaa

From 1o
Cityl| City2 | City 3 | City 4 Supply
(Million kwh)
Plant 1 $8 £6 £10 £9 35
Plant 2 $9 $12 $13 §7 50
Plant3 £14 £9 £16 £5 40
Demand 45 20 30 30
(Million kwh)
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:(Decision Variable)J)l Jsaia (1
Aae JS Aaae JS (e A giiall ol e AaeS aas Lide ang 4l Ly
Cj Aaall Al jall 5 j Adasal) 8 Aatial) ol Sl 4uaS X
4 A3 Al jall 6] Adasall 8 Aatiall ol oSl A0aS 1X14
:(Objective function) «aagd) aulil) (2
0l ) (o Bl IS RS st 35 0 L
Minimize Z = 8X,,+6X,,+10X,;+9X,,
+9X,,+12X,,+13X,;+7X,,
+14X,,+9X,,+16X,,+5X,,
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:(Supply Constraints)aall 358 ( 3
:Ugﬁ&\gSﬁh\ngGm\:\mL@JMMdsaiw
XX+ X3+ X, <35

X, +X,,+X,.+X,, < 50

X3, +X5,+X55+X,, < 40
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:(Demand Constraints) kil 253 (4
Ll (6K 8 50 Ll A Ll aaa Al S ) e
X11tX,1+X3, £ 45
X1,tX,,+X3, < 20
X3+X,5+X;53 £ 30
X14tXp41 X34 S 30
(MLA\ e .La)m) 3 L&Y 2 48 (5
D s 50 OS5 O i Xij's IS G el yeS (e Alad) dpel) Jis oSy Y 4l Ly
Xij 2 0 (i=1,2,3; j= 1,2,3,4)
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Y dabil) daa sl & PowerCo Aluw 48 Lua
Min Z = 8X,,+6X,,+10X,5+9X,,+9X,,+12X,,+13X,,+7X,,
+14X,,+9X;,+16X;;+5X;,

S.T. X;1+X,+X 34X, <35 (Supply Constraints)

X, +X,,+X,5+X,, < 50

X3+ X5, +X35+X5, <40

X;1+X,,+X3, <45 (Demand Constraints)
X +X,,+X;5, < 20

X 3+X,3+X3; < 30

X1+ X,,+X35, <30

Xij 2 0 (i= 1,2,3; j=1,2,3,4)
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j=n
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j—1

S X > di(j =1,2,...,n)
=1

Xij=0(=12,....m; ] =12,...,n)
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